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Note:- You have four choices for each objective type question as A,B, C and D. The choice which you think is correct, fill that circle in front of
that question numbar. Use marker or pen te fill the circles. Cutling or filling two or more circles witl result in zero marks in that question

1. 1. The marginal land is that which is: _ re Bt 4 4
rent giving ) «dw¥ (B) highly fertile q..dxf"’.f_iv( {(A)
Iocated inrural areas < JrUt U (D) free of rent = drulie ()

2 If the valu i %:roductlon‘ﬁlast .MLJJJ,Z..JFL/,JM.MO = fr,u;r“’::. Lﬁérwu,sf 2

and the wage rate is Rs.12 then:

rrrn'g profit /_dxlfdlﬂ,’ (8) firm is facing loss < Jlpsc plal)  (A)

None'of these ety (D) firm is earning normal profit ade;!ff"l.fu;t'j (c

K8l of market where: -U:U)"-—fj’ﬁ‘;”d’l"‘u -3

price is already flxed m.v);r-_dua’ (B) there rs iarge humber of consumers Uipfilenticd (A)
there is a large number of producers un_,{/luw._/ {C)

there is no near substitute of product _..;‘,JJ,Jr,I"L[-/{/_ (D)

4. Average revenue under perfect competition is equal to: --:...Jruuuﬂs Lai[}rjut.kluu _4
ptice L=d (D) costs Lo ble (C) supply Lu- (B) vertical demand L st (A)

5. The marginal revenue curve under the monopaly is: _é_fﬁkﬁgdf)?vjz-d;lJuJbl _5
parallel to "OX"  g##LmOX" (B) vertical St (A
None of these /et (D)  from left to right downward £/ be | (C)

6. The sum of fixed and variable costs is called: dct'ﬁ(‘f *"'tvb’.uw/”';ﬂf 6
total costs _E;WJ {B} marginal costs Huw(‘f {A)
average total costs _E;WJM D) . Average costs el (C)

7. The slope of curve of Law of Diminishing Return is: - b ;b"»;._)"bﬁg:’b .7

Convex o~ (D) \Vertical ¥ (C) increasing dj‘g (B) negative &

8 The other name of " Law of increasing returns " is: _c.,r't{fuh’J‘w/i}fu .8
increasing costs Yy _‘ (B) decreasing returns ™ (A)
variable proportions ..A/L,,.. {9)) decreasmg costs ...uwu- [C)

g The functional relationship between factors of praduction fe- EiL =2 (4 ot ;aLLuLm._.; tlae ;-r[ﬂgu- 6 _g
and out put is called?

Wealth production &/ J % (B) Production of resources J"./! Juc (A)
Method of production \fu;.;.) (D} Production function J‘l.vd‘lu (cy

10. Wage is the reward of which factor of production? “.»_J-»(L,f’fy Jku”_,f _10
Capital -l (D) Labour =¥ (C)Organizer/Producer 2T (B} Land &) (A)

11, When the demand and supply increase with the same amaunt af at/z'/b./ F i GIE s 41
quantity, it will result in:

decrease of price ?Jwr':.,ﬁ (B) increase of price dbay ot (A)
None of these e Sl (D) same price 3 4.J;JLJJ ()

12, According to " Law of supply " the relationship between bl 'J“’_f'm 7 I_Ja,uu.wwu 12

rice and supply is:

° conatar:p f;.» (D) increasing 2° (C) nothing A% (B) inverse o (A)

13, The slope of supply curve is: el _i*:’.{{y;p .13
Convex - (D) positve =% (C) Vertical St (B} Honzontal i {A)

14 The reason of sh;ftmg of demand curve is: #a.gn.’s&..nf'&wb» _14
Exceptions ...L_fr" D) desire Jf1F (C) other factors J‘I:'/(.- (B} price = (f\)

15, The functional relationship between price & quantity -r_tLaI.L/JJ‘Lvul/uLJﬂﬂn‘J dc_g 15

demand is:

positive =4 (D} direct =ftuls (C) increasing u’/:‘f (B} inverse U:G’ {A)

16. The curve of Linear equation has the form: i o{..tﬂ(ﬁL/v(u‘h/U ot 18
Non-Linear (“//’ (Y Convex o (C) Arc (¢ (B} Linear (""b {A)

47 Indifference curves (ICs) have the shape: st Ll ST enst 17
Horizontal 1 (D}  Vedical $»f (C) Concave /* (B} Convex —¥  (A)

1g. When the totai utility of a good maximises, the marginal utility is: —g b IV Dl bl $2 2 18
maximum  ssbienili (D) zero M (Cy  positive =} (B} negative (f* (A)

19 According to Alfred Marshal, economics is: “L...-f/i.- J.-/Ll_bb/df 10
Reforming Science H' Skl (B} Social Science ylz- {A)
Ethical Science H'dun (D) Pure Science U (C)

20. The pioneer of economics is: e B Pl whai e L ils 20

Rabhins =l (DVJ.S.Mill ufloz— (C) Adam Smith  #77 (B) David Ricardo  +5.8.37) (A)
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Note:- Sectionlis compulsory Attempt any three (3) questions {rom
(_Section - | 3 o
{8 x2 =16}

2, Write short answers to any Eight parts :
j. What is meant by human wants?
ii. Write down four characteristics of economic laws:
i, what is meant by positive science?
jv. Define capital goods:
y. What is meant by consumption?
i, Define utility:
vii. Write down two assumptions of law of diminishing marginal utility:
viii, YWhat is meant by independent variable?
ix. What is meant by derived demand?
x, Write down four limitations of law of demand:
xi. Define point elasticity:
xii, YWhat is meant by income elasticity?
3. Write short answers to any Eight parts :
i Define law of supply:

(8 x 2=18)

ii. What is meant by market supply schedule?
iii. What is meant by elasticity of supply equal to one?
iv. Write two examples of the supply of complementary goods:
v, What is'meant by market equilibrium?
vi. What is meant by factors of production?
;i Define labour:
viii. VWrite any four characteristics of land:
ix. What is meant by sunk capitat?
x. What is meant by scale of production?
wi. Write any four advantages of small scale production:
wii. YVrite any four assumptions of law of increasing returns:
4- Write short answers to any Nine parts : (Ix2=18)
What is meant by " cost of production "?
ii. What is meant by " fixed cost "?
i, What is meant by " total revenue "?
iv. What is meant by " marginal revenue "?
v. What is meant by " monopoly "2
vi. What is meant by " normal profit *?
vii. Define " market "

vifi, WWrite down two different kinds of markets, with respect to competition:

X, What is maant by rent?
x. What is meant by marginal preduct?
xi YWhat is meant by " money wages "?
xii. YWhat is meant by " net profit "?

iii, Differentiate between " profit" and * interest "
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Section - Il _each question carries 10 Marks (A AL Jirg) (s

5. Describe merits and demerits of Robbins, definition of
econamics:

8. What is meant by shift in demand or rise and fall of
demand? Explain it with schedule and diagram;

Explain the factors which affect the efficiency of labour:

_.-i‘uL-uklﬂslJl:J’Jn.Jf/‘U...-L/LVJ/U/’;/
,,:"J)(f’ P{-J/JL&AJJ'&-/LW»LJ;AJ

c"{..»m.:,ri)?!j al ule

_é':' xRN ,hf«’_.l: i/ /Pr(.ﬁflld.fbiﬂ; L(-..J

Explain following twa situations of a firm's equilibrium under ) :;J,u(,udlu;ué:r/..j dej}d’iif

perfect competition in the shortrun:
(i) Normal profit {ii) Little loss
9. What is Devid Recardo's Theory of Rent? Explain it:
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